Water area

29cm quadro truss
covered with black
or white lycra sleeves

Textured stainless steel plates

2 or more 230VAC black cables
8m long
standard european CEE7/7 plug

One horizontal bar for every meter of water area width

Black or blue mats
reducing splaches

All vertical walls:

Stainless steel covered

with black or white sticky foll
(stickers)

Pumps always installed on the left
side of the iinstallation

Lighting

COMPANY:
LN Wordfall
Ttk Ul. Szczygtow 30 TITLE
WE Sk _ H
ward ol 44-200 Rybnik
NAME TEL. PART NO
DRAWN Wordfall +48601296649
CHK'D Wordfall DESCRIPTION
APPV'D
MATERIAL: SURFACE FINISH K-FACTOR THICKNESS
mm
SCALE:1:20

]
(@)
<t
\
(@)
(@)
L
(@)
o
O
()]
©
(-
D)
O
——
N
S
AN
78
AN ™M
8 .
O
.. O
o
-
O
()]
-
(-
O
e
@)
)
p—
2
wm
C
O
Q
[
DO NOT SCALE DRAWING REVISION

Rain room mobile

installation
WEFL-KK-A0132-1

Rain room
BEND RADIUS WEIGHT
mm g

SHEET 1 OF 6

1

A3



Width: Water area width + 1527

e.g. 3027

VA

1000 - 6000, rounded to full meters

Length of water area:

| 3| = 3| 1= S| 2
(O]
+
£
6 f—
D =
= = [ 7 "= ° [= =] LO
(O
| -
O B
e
o)
2 C
4—_ D
O O
—
= =) = =) = =) -o£— o
O o
; (@)
O w0
|
o
o
= 3 - = = = 3 - o
COMPANY:
Ll Wordfall
patieke Ul Szezygtow 30 TILE
GE A 8 .
ward ol 44-200 Rybnik
NAME TEL. PART NO
DRAWN Wordfall +48601296649
CHK'D Wordfall DESCRIPTION
APPV'D
MATERIAL: SURFACE FINISH K-FACTOR THICKNESS
mm
SCALE:1:20

2

DO NOT SCALE DRAWING REVISION

Water wall area

WFL-KK-AO0132-1

Rain room
BEND RADIUS WEIGHT
mm g
SHEET 2 OF 6

A3



FRONT
/ 999.5 499.5 |
Front stickers
SIDE e [ T . "‘F;~~é51 .9
< N o
o0 00 .
™ 0.5 M| o~ 52
[ ]~ T | I
™
|
999.5 . 747.5 499.5
Side stickers
COMPANY:
;_: E:‘ ”,,. Wordfq” DO NOT SCALE DRAWING ' REVISION
i UL Szezygtow 30 e Brcmdlng
oo b 44-200 Rybnik
NAME TEL. PART NO
DRAWN Wordfall +48601296649 WFL_KK_AO] 32_]
All vertical wallls: Ai:sz Hordiol pECRPION Rain room
Stainless steel covered .
W.:_-!-hkb|OCk Or WhITe STICky fo'l MATERIAL: SURFACE FINISH K-FACTOR THICKNESS BEND RADIUS WEIGHT
(stickers) m m q
SCALE:1:20 SHEET 3 OF 6

8 7 6 5 4 3 2 1



8 7 6 5 4 3 2 1

Corner banner holder

There are two ways to fix a banner (front or fronf and back)

1. Slide-in (only horizontal banners)
2. Using screws (both horizontal and vertical)

Banner holder every one meter
(front or front and back)

NS

S
NI

N

N O=
=\: /AN
<\

A

N
TN S
.\‘l »_\‘/‘\‘

=i

Banners and stickers should be delivered by the client
Banners can be placed on the front side or front and back side

Requirements:

Slide-in banner:
Thickness: 3-5mm
Height: 220mm +/-2mm

Lenght: total lenght of the construction
No holes necessary

Screw-fixed banner:

Any reasonable height and shape

Weight: 1,5kg per banner holder

Holes diameter: 6-7mm, holes should be already drilled before the installation.
Our technicians will not be equipped to drill holes at the place

Clamps used only for slide-in banners

COMPANY:

Ll Wordfall
W usceygiowso = Standard banner holder
o 44-200 Rybnik

DO NOT SCALE DRAWING REVISION

Jy Whard Foll
NAME TEL. PART NO
DRAWN Wordfall +48601296649 W F I_' K K'AOOO ] - 7
CHK'D Wordfall
M5 screws used only for screw-fixed banner APPVD DESCRIPTION : .
Mobile Installation
MATERIAL: SURFACE FINISH THICKNESS BEND RADIUS WEIGHT A3

mm mm g
SCALE:1:2 SHEET 4 OF 6

8 7 6 5 4 3 2 1



Lo
e \\\ \\\ Pz
i‘}-;j P __f-zH Vo

290 -3

A E
o /(
| !.S.--a--.ﬁ.l Vo AmmmmmmmmnT ’=
b __ ol lo o ol S S0 ougd
! | [ o // // // /7 R ]
P [ . o s oy
P P! [ Vo a4 P
bl - b [ oy 1Sy
[ ! [ [ s oy
Pl P! Lo [ S, oy
o po! [ Lo S oy,
- [ —— J o [ S e ol
' | i 1o % \ I
- [ | [N - | 4
1o oo A [ 7 - | S
b [ [ \ \ P _- ) | s
[ [ [ \ \ e - | | s
Lo P I [N e N
[ o [ \ \ e e [ 7 s
' I | [ P | -7 s
| | | P /
! | | | | | 7 7 > ~ | Vi
! 1 | s s i { | ,
- ! | | | V2 V2 P b —_ ,
ol o %) Ol [S e O ol ) e
—] ——==g===z- Vo r e ! rr
-—- == T}==o Vo b - | / D
- [ ) Vo ! 270 hol /o
=3 = o \\ \\ — —_— —— ——— — |
\ \
]
CSMPﬁNf DO NOT SCALE DRAWING REVISION
o b Wordfall

W UL szezygtow 30 Slide-in banner
o 44-200 Rybnik

WardFaoll
NAME TEL. PART NO
DRAWN Wordfall +48601296649 W F I_' K K'AOOO ] - 7
CHK'D Wordfall
APPVD DESCRIPTION
Mobile Installation A
MATERIAL: SURFACE FINISH THICKNESS BEND RADIUS WEIGHT A3
mm mm g
SCALE:1:5 SHEET 5 OF 6

7 6 5 4 3 2 1



20 LS A2 v
e P TIET
| N vl “'A:l
! N ! " i)
D S | sl
= ' T L
- - 7
0 — : . : (%
L | | -7 o } //

- e e e e e e e e

o C [
y —5& ) E.- = i\ S

M5 screws used for edges M5 screws used for middle part M5 screws used for corners
B
CZ_M;%T;_, WordfO“ DO NOT SCALE DRAWING REVISION
[ Szczygtow 30 e Holes pG‘rTem
e 44-200 Rybnik
NAME TEL. PART NO
DRAWN Wordfall +48601296649 W F I_' K K'AOOO ] - 7
CHK'D Wordfall
APPV'D DESCRIPTION . .
A Mobile Installation
MATERIAL: SURFACE FINISH THICKNESS BEND RADIUS WEIGHT
A3
mm mm g
SCALE:1:10 SHEET 6 OF 6

8 7 6 5 4 3 2 1



	Rain room mobile installation
	Drawing View2

	Water wall area
	Drawing View7

	Branding
	Drawing View8
	Drawing View9

	Standard banner holder
	Drawing View3
	Drawing View4

	Slide-in banner
	Drawing View5

	Holes pattern
	Drawing View6


